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B.A. 67 Semester (Honours) Examination, 2022 (CBCS)
Subject: History
Paper: CC-XIII
History of Modern Europe (1871-1945)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.
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Answer any ten of the following questions, each in more than one sentence:  2x10=20
RS eelerm g @ T 77 avaa Tex wisl 2fefd Ten iy AT ve BIR
What was the incident of the ‘Dropping the Pilot’.
PR W TG F?
What do you understand by the term ‘Drang nach osten’?
Gl Y Q@O HHIF0F 7 QN B @RI?
What was Kruger Telegram?
G Gfrar 7
Which period in European history is known as the ‘Age of Armed Peace’?
BTN ST (@I 3T FIENCE ST #NfeF For et 2307
What was the October Manifesto?
SEIRR CHCFB! 2
What was the Sarajevo assassination?
CTAICETCS! TS F?
Who declared the ‘Fourteen Points’ and why?
(T G T ‘38 W N0’ (ARl FCARETT?
What is meant by the ‘Polish Corridor’?
CAIfeTl SfeR TS F @RE?
What do you mean by ‘Succession States’?
HAIFCTHT GBON’ ICS G FI (@1RI?
What was ‘Hoover’s moratorium’?
What do you mean by ‘Anschluss’? Who achieved it?
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T TS N @R? (T Gf5 Tl SR
1) What was ‘Blitzkrieg'?
AENRES
m) What was Luftwaffe? Who was its commanding officer?
TFRGE F? 9T AGARS (F foree?
n) What was the incident of ‘miracle of deliverance’?
oA WES T FI?
0) What is the full form of UNRRA?
UNRRA-9F [Ta 2 F1?
2. Answer any four of the following questions: 5x4=20
NBA T I BT 2TAT TaR es
a) What were the major points of difference between Bismarckian and Wilhelmine foreign
policies?
femifea ¢ SEarean e Sifer o dEa aam v ofet Jt e
b) Analyse the implications of the Balkan War (1912-13) on European politics.
BTCEF AGINOCS T T@ LA (S533-59) i Raaet 4|
c) How far was the League of Nations successful in promoting peace between the two World
Wars?
w3 fgguas SRSt AN Aol O @I 1% TR oFm ol e i
d) Account for the rise of Nazism in Germany.
Eififce AT ST S e w9 |
e) Analyse the role of foreign powers in the Civil War of Spain (1936-39).
CHTR R I0a (350u-0) ot *fesfa i fusad 34|
f) Was Hitler really responsible for the outbreak of World War 11?
oGt I fash fegeae sj@eiices &y e aidl feeew?
3. Answer any two of the following questions: 10x2=20
NER F I 715 &raR Tew wreg
a) Was the Berlin settlement of 1878 a satisfactory solution to the Eastern Question?
Sy FCER e ICARE F 2Z AR T GF0 ACSASHS A4 fw?
b) Review Lelin’s New Economic policy.
@ Tge aftafes Fifs o=ficasa F1
c) How did France search for security in the inter-war period?
Y2 fgras el I T FreN [areres Jae FEee?

d) How did the Rome-Berlin-Tokyo Axis come into being?

@N-AIfT-GIfFe wrwa Teoife Fro zrfze?




